&0

ER{0)
BT BeL7 12

87 X' o) iAo Bl

7

BlZh

2F A

1= TH 3km, O3 kmDIEHFD L @FEILFTkm2TT 5%,

¥ . I ThaTT 25,

3\ -

(DTVWFIIRZTYILLI, )

km?2 ha a m?2 cm?3
km?2 ha a m?2 cm?3

u}

2 1=TH50m. #EI20mDOEAFEOMO @I m2TIT 5,
. NI aTT H,

3\ -

km?2 ha

cm?

km?2 ha




BT LEL% 12

8% ¥ 0 EE D B 2FA

| 7=TH 3 km. O 3kmDEAFD L0 @FEIZATkm2TT 5,
7. ZNEThaTT A, O TVZEEREZYEL LS, )

A: 3 X3=9
E?n2 ha a m? cm?
4
ﬂnz O Qa a m cm
B 9 km? £z2: Y900 ha

2 1=TH50m. #EI20mDOEAFEOMO @I m2TIT 5,
Fr~. THNIEa TT D,

A:50X20=1000

km?2 ha I Oo O qu cm3
km?2 ha I OO m?2 cm?






